22 5

22 21
FEIA ELISA
2 5 4 6
P.125 | 1331 ds-DNA IgG
10 IU/mL 12 1U/mL
1 IU/mL 10 IU/mL
380 IU/mL 400 U/mL
P.49
FEIA ELISA
2 5 4 6
P.126 | 0348 RNP
S U/mL 10.0 U/mL
1 U/mL 7.0 U/mL
240 U/mL 500.0 U/mL
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FEIA ELISA
2 5 4 6
0349 Sm
5 U/mL 10.0 U/mL
1U/mL 7.0 U/mL
120 U/mL 500.0 U/mL
FEIA ELISA
2 5 4 6
P49 | P.126 | 0424 SS-A/Ro —
10.0 U/mL
1 U/mL 7.0 U/mL
240 U/mL 500.0 U/mL
FEIA ELISA
2 5 4 6
0491 SS-B/La —
10.0 U/mL
1 U/mL 7.0 U/mL
320 U/mL 500.0 U/mL
FEIA EIA
2 5 5 6
7 U/mL 16.0
P50 | P.126 | 0518 Scl-70
1 U/mL 5.0
320 U/mL 300.0
03 mL 0.4 mL
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FEIA ELISA
2 5 4 6
P.125 5084 Jo-1
7 U/mL 10.0 U/mL
1 U/mL 7.0 U/mL
240 U/mL 500.0 U/mL
P.50
FEIA EIA
2 5 5 8
7 U/mL 10.0 index
P.129 | 1354 ACA -
1 U/mL 5.0 index
240 U/mL 300.0 index
0.3 mL 0.2 mL
1331 ds-DNA IgG 10 10 15 16
0348 RNP
5 5 10
0349 Sm
0424 SS-A/Ro
0491 SS-B/La 11
0518 Scl-70 7 7 10
5084 Jo-1
1354 ACA
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1000.0

ds-DNA IgG

ds-DNA
1gG
66.0 12.0 12.1
U/ L U/ L
10 33 27 60
U/ L
10 15 (o} 8 8
U/ L
16 1 37 38
U/ L
34 72 106
RNP
88.9 10.0 10.1
U/ L U/ L
5 30 2 32
U/ L
5 10 o 6 6
U/ L
11 o 34 34
U/ L
30 42 72
Sm
81.3 10.0 10.1
U/ L u/ L
5 30 6 36
U/ L
5 10 0 3 3
U/ L
11 0 9 9
U/ L
30 18 48
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>
2100 F
A 8
] .‘3 °
10 g’
01 il 1aaal 1 a1l
01 1.0 10.0 100.0 1000.0
lU/mL
RNP
1000.0
=018 x+ 14.14
= 0438 S e
1000 F =28 ()
= LY
£ ) (Y ]
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100 F “ ‘.‘
° ([
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E ° o
o1 . " .
01 1.0 100 100.0 1000.0
U/mL
Sm
1000.0
=012 x+ 412
= 0535
1000 E =22
4
S .
100 t °
E o °°
[ _J
o000
10 F .‘
[ ]
01 1 1l 1
01 1.0 10.0 100.0 1000.0
U/mL
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SS-A/Ro SS-A/Ro
1000.0
05.6 =146 x + 21.96
. 10.0 10.1 = 0811
u/ L | urL - 43 o @t
1000 E ° '”
—
7 28 3 31 E f o®
U/ L
2100 E $f
7 10 0 0 0
U/ L
10 F
11 2 81 83
U/ L
o1 o .
30 84 114 0.1 1.0 10.0 100.0 1000.0
uU/mL
/ SS-B/La
SS-B/La L0000
94.6 10.0 10.1 zcl)-é%‘ +2789 ‘.o
U/ L U/ L - e
1000 =49
-n of‘.
7 28 4 32 = ?
~
U/ L S0 |
°®
7 10 o 0 0 ‘.
U/ L
1.0 3
11 1 60 61
U/ L
0.1 " L R
0.1 1.0 10.0 100.0 1000.0
29 64 o3 Oz
Scl-70 Scl-70
1000.0
=079 x - 3277
80.0 16.0 126309 24.0 = 0871 °
' 1000 =11 )
o ..
|
7 31 4 7 42 E
U/ L =)
100
°
7 10 0 o) o) 0 °:
U/ L o9
1.0 ? PY
11
O/ L 0 o 6 6
o1 . .
31 4 13 48 0.1 1.0 10.0 100.0 1000.0
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Jo-1 Jo-1
1000.0
1000 1?1'5)”“_ 1%}mL =013x + 1463
1000 k = 0993
iy F -4 [ J
7 30 0 30 £ o
u/ L S °
100 F
7 10 0] (0] (0]
u/ L
1.0 E
11 0] 7 7
u/ L
0.1 Lu L . L
30 7 37 0.1 1.0 100 1000 10000
U/mL
1000.0
10.0 =133 x- 1081
95.2 100 159 | 160 = 0.883
index index index - 20 @
1000 F ‘
4 i o
7 30 3 1 34 g °
U/ L D Y
10.0 E ~
([
7 10 0] (0] (0] (0]
u/ L
10 F
E [ J °
11 0 0 49 49
u/ L
0.1 L Ll L
0.1 1.0 100 100.0 1000.0
30 3 50 83 index
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